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nrhw;nghUs; 
 vd;G  - vYk;G 
 tof;F  - tho;f;if newp 
 <Dk;  - jUk; 
 Mh;tk;  - tpUg;gk; 
 ez;G  - el;G 
 itafk;  - cyfk; 
 kwk;  - tPuk; 
 tw;wy; kuk; - thba kuk; 
 eha;f;fhy;  - ehapd;fhy; 
 <f;fhy;  - <apd;fhy; 

 ehd;fzpah; - ehd;F  mzpah; 
 mzpah;  - neUq;fp ,Ug;gth; 
 Nra;  - J}uk; 
 nra;  - tay; 
 mizahh;  - Nghd;whh; 
 jiyrhAjy; - Xa;e;J gLj;jy; 
 td;ik  - nfhil 
 cOgil  - tptrhak; nra;ag;    

              gad;gLk;   
fUtpfs; 

 Nfhzp  - rhf;F 
 eil  - rhiyapy; nry;Yk;  

  tz;bfs; 
 gwg;G  - gwf;Fk; tpkhdk; 

Nghd;wit 
 Qhyk;  - cyfk; 
 cte;J nra;Nthk;- tpUk;gpr; 

nra;Nthk; 
 jkpo;kfs;  - xsitahh; 
 Nkyth;  - NkNyhh; 
 fPoth;  - fPNohh; 
 kw;Nwhh;  - gpwh;f;F cjTk; 

Neh;ik  
     mw;Nwhh; 
 newpapdpd;W - mwnewpapy; epd;W 

 klths;  - ngz; 
 jifrhy;  - gz;gpy; rpwe;j 
 kdf;fpdpa - kdj;Jf;F ,dpa 
 fhjy; Gjy;th; - md;G kf;fs; 
 Xjpd;  -vJntd;W nrhy;Yk; 

NghJ 
 Gfo;rhy;  - Gfioj; jUk; 
 czh;T  - ey;nyz;zk; 
 thdg;Gdy; - thdj;J ePh; 
 Gdy;  - ePh; 
 itaj;J mKJ - G+kpapd; mKjk; 
 itak;  - cyfk; 
 jfug; ge;jy; -jfuj;jpy; 

Nghlg;gl;l ge;jy; 
 nghb  - kfue;jg; nghb 
 jio  - nrb 
 jioah ntg;gk; - ngUFk; ntg;gk; 
 jiof;fTk; - FiwaTk; 
 Mw;wTk;  - epiwthf 

 ehw;wpir  - ehd;F  jpir 
 jlNtahk;  - jk;Kila ehNl 

MFk;. 

 Mw;Wzh  - MW  czh 
 MW  - top 
 czh  - czT 
 topeil czT - fl;Lr;NrhW 
 nta;atpid - Jd;gk; jUk; 

nray; 
 Ntk;G  - frg;ghd nrhw;fs; 
 tPwhg;G  - ,Wkhg;G 

 gyypy;  - gyh;  ,y;> 
gyUila  

  tPLfs; 
 Gfy; xz;zhNj - nrhy;yhNj 
 rhw;Wk;  - Gfo;r;rpahfg; 

NgRtJ 
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 flk;  - clk;G 
 xd;Nwh  - njhlUk; nrhy; 
 ehlhF xd;Nwh - ehlhf ,Ue;jhy; 

vd;d  
 my;yJ 

 mts;  - gs;sk; 
 kpir  - NkL 
 ey;iy  - ed;whf ,Ug;gha; 
 Mlth;  - Mz;fs; 
 
jpUf;Fws;: 
 <uk;  - md;G 
 mis,  - fye;J 
 gbW  - tQ;rk; 
 nrk;nghUs; - rpwe;j nghUs; 
 mfd;  - mfk;> cs;sk; 
 mkh;  - tpUg;gk; 
 Kfd;  - Kfk; 
 ,d;nrhy;  - ,dpa nrhy; 
 ,d;nrhyd; - ,dpa nrhw;fisg;  

 NgRgtd; 
 mkh;e;J  - tpUk;gp 
 mfj;jhd; Mk; - cs;sk; fye;J 
 ,d;nrhypdNj - ,dpa nrhw;fisg; 

NgRjNy 
 Jd;GW}ck; - Jd;gk; jUk; 
 ,d;GW}ck; - ,d;gk; jUk; 
 ahh;khl;Lk; - ahhplj;Jk; 
 Jt;thik - tWik 
 mzp  - moFf;fhf 

mzpAk;  
eiffs; 

 my;yit  - ghtk; 
 ehb  - tpUk;gp 
 ead;<d;W  - ey;y gad;fisj; 

je;J 
 ed;wp  - ed;ik 
 gaf;Fk;  - nfhLf;Fk; 
 jiygphpahr;nrhy; - ePq;fhj nrhw;fs; 
 rpWik  - Jd;gk; 

 kWik  - kWgpwtp 
 ,d;ik  - ,g;gpwtp 
 <d;wy;  - jUjy;> 

cz;lhf;Fjy; 
 td;nrhy;  - fLQ;nrhy; 
 vtd; nfhNyh - vd;d fhuzNkh 
 fth;jy;  - Efh;jy; 
 mw;W  - mJNghd;W 
 ,ul;rpj;jhdh - fhg;ghw;wpdhdh 
 my;iyj;jhd; - mJTk; my;yhky; 
 Miuj;jhd; - ahiuj;jhd; 
 gJkj;jhd;  - jhkiuapy; cs;s 

gpukd; 
 Gtp  - cyfk; 
 Fkufz;l typg;G - xUtif typg;G 

Neha; 
 ,zf;ftUk; gb - mth;fs; kdk; 

fdpAk; gb 
 Fzf;flNy/mUl;flNy – KUfid  

                  ,t;thW 
miof;fpwhh; 

 Fiufly;  - xypf;Fk; fly; 
 guq;Fd;Wshd; - jpUg;guq;Fd;wj;jpy; 

cs;s  
  KUfd; 

 thduq;fs; - nghJthff; 
Fuq;Ffisf;  
  Fwpf;Fk; 

 ke;jp  - ngz; Fuq;Ffs; 
 thd;ftpfs; - Njth;fs; 
 fkdrpj;jh;  - thd;topNa 

epidj;j  
,lj;Jf;F nry;Yk; rpj;jh;fs; 

 fharpj;jp  - kdpjdpd; ,wg;ig 
ePf;fpf;  
  fhg;ghw;Wk; %ypif 

 ghpf;fhy;  - Fjpiuf;fhy; 
 $dy;  - tise;j 
 Ntzp  - ril 
 kpd;dhh;  - ngz;fs; 
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 kUq;F  - ,il 
 #y; cis - fUitj;jhq;Fk; 

Jd;gk; 
 Nfhl;L kuk; - fpisfis 

cila kuk; 
 gPw;wy; Fil - gpa;e;j Fil 

 
 
nrhw;nghUs; 
 gz;  - ,ir 
 tz;ik  - nfhilj;jd;ik 
 Nghw;wp  - tho;j;JfpNwd; 
 Giu  - Fw;wk; 
 gaf;Fk;  - jUk; 
 RLk;  - tUj;Jk; 
 md;d  - mit Nghy;td 
 va;ahik  - tUe;jhky; 
 mfk;  - cs;sk; 
 mikAk;  - cz;lhFk; 
 mwpif  - mwpjy; Ntz;Lk; 
 jhid  - gil 
 flNd  - flik 
 Mh;fyp  - epiwe;j 

XirAila  
                fly; 

 fhjy;  - md;G> tpUg;gk; 
 Nkij  - mwpT> El;gk; 
 tz;ik  - <if> nfhil 
 gpzp  - Neha; 
 nka;  - clk;G 
 ehzk;  - nra;aj; 

jfhjdtw;wpd;  
             fz; cs;s 
nkhLq;Fjy; 

 rpwe;jd;W  - rpwe;jJ 
 topgLjy;  - Nghw;wp tzq;Fjy; 
 jw;nra;if - jd;idr;nry;tk;  
    Kjypatw;wpy; Nkk;gLj;jpf; 
nfhs;sy; 
 cz; nghOJ - cz;Zk; nghOJ 

 ngwpDk;  - ngw;whYk; 
 ghy; gw;wp  - xU gf;fr; rhh;G 
 Njhy; tw;wp - Njhy; RUq;fp 
 rhapDk;  - mopapDk; 
 rhd;whz;ik - mwpT 

xOf;fq;fspy;  
  epiyj;J epw;wy; 

 Fd;whik  - FiwahJ 
,Uj;jy; 

 J} cak;  - J}a;ik 
cilNahh; 

 <Ak;  - mspf;Fk; 
 epy;yhik  - epiyahik 
 newp  - top 
 J}a;ik  - J}a ed;ik 
 khe;jh;  - kf;fs; 
 epiw xOf;fk; - Nkyhd xOf;fk; 
 Njhw;whjhd; - filg;gpbf;fhjtd; 
 tdg;G  - moF 
 J}W  - Gjh; 
 tpj;J  - tpij 
 Rop   - cly; kPJ cs;s 

Rop>  
                    ePh;r;Rop 
 Jd;dyh;  - gifth;> 

mofpakyh; 
 ghptha;  - md;gha; 
 rhLk;  - jhf;Fk; 
 MLghp  - MLfpd;w Fjpiu 
 ifk;kz;zsT - xU rhz; vdTk; 

nghUs;  
  nfhs;th; 

 nkj;j  - kpFjpahf 
 ge;jak;  - Nghl;b 
 GytPh;  - Gyth;fNs 
 fiykle;ij - fiykfs; 
 vd;gzpe;j  - vYk;ig 

khiyahf  

(vd;G  mzpe;J)   mzpe;j 
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 njd;fkiy  - njw;fpy; 
cs;s jpUth&h; 

 G+q;Nfhapy;  - jpUth&h; 
Nfhapypd; ngah; 

 Gz;zpadhh; - ,iwth; 
 kz; Rke;jhh; - te;jpf;fhf 

,iwtd; kz;  
 Rke;jhh; 

 cUFthh;  - tUe;Jthh; 
 GJik  - cUtk; 
 nka;g;nghUs; - epiyahd nghUs; 
 fzf;fhah;  - Mrphpah; 
 khhp   - kio 
 Nrkk;  - eyk; 
 Njrk;  - ehL 
 Kl;L  - Ftpay; 
 nej;jp  - new;wp 
 jpU  - nry;tk; 
 fdfk;  - nghd; 
 Nfh   - murd; 
 epNtjdk;  - gilayKJ 
 Gutp  - Fjpiu 
 fLfp  - tpiue;J 
 frL  - Fw;wk; 
 epw;f  - fw;wthW elf;f 
 vz;  - vz;fs;> fzpjk; 
 vOj;J  - ,yf;fz 

,yf;fpaq;fs;  
  tbtk; 

 ctg;g  - kfpo 
 jiyf;$b  - xd;W Nrh;e;J 
 cilahh;  - nry;tk; cilahh; 
 ,y;yhh;  - nry;tk; 

,y;yhjth; 
 Vf;fw;W  - ftiyg;gl;L 
 filah;  - jho;e;jth; 
 rhe;JizAk; - rhFk; tiuapYk; 
 Vkhg;G  - ghJfhg;G 
 fhKWth;  - tpUk;Gth; 
 tpOr;nry;tk; - rpwe;j nry;tk; 

 khL  - nry;tk; 
 jj;Jk; Gdy; - miynawpAk; 

ePUk; 
 Kj;jk; milf;Fk; - Kj;Jf;fs; 

kpf;Fg;  
      ngUfp ,ilNa mile;Jf; 
nfhz;L         
      fplf;Fk;. 

 fypg;G Ntiy - fUkhh;> nfhy;yh;> 
jl;R>  

 KjypNahh; nra;Ak; 
njhopy; 

 rpj;uk;  - rpwg;ghd fhl;rpfs; 
 kNjhd;kj;jh; - ngUk;gpj;jdhfpa 

rpt  
  ngUkhd; 

 ahidf;Fhpa NtWngah;fs; - fsgk;> 
khjq;fk; Ntok;> gfL fk;gkh> 
ifk;kh  Kjypait 

 fsgk;  - nghd; 
 khjq;fsk;  - nghd; 
 Ntok;  - fUk;G 
 gfL  - vUJ 
 fk;Gkh  - fk;G khT 
 tpz;  - thdk; 
 tiu  - kiy 
 KoT  - kj;jsk; 
 kJfuk;  - Njd; cz;Zk; 

tz;L 
 fjp   - Jiz 
 NgW  - nry;tk; 
 edp   - kpFjp(kpf;f) 
 juk;  - jFjp 
 Gtp   - cyfk; 
 Nkop  - fyg;ig> Vh; 
 Nte;jh;  - kd;dh; 
 Mop  - Nkhjpuk; 
 #o;tpid  - cz;lhFk; 

tWikj; Jd;gk; 
 fhuhsh;  - Nkfj;ij  
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MSfpd;wth;fshfpa  
  coth; 

 
nrhw;nghUs; 
 Rlh;  - xsp 
 Mde;jk;  - kfpo;r;rp 
 tpid  - nray; 
 fhg;G  - fhty; 
 ePuth;  - mwpTilahh; 
 Nfz;ik  - el;G 
 Ngijahh;  - mwptpyhh; 
 etpy;njhWk; - fw;ff;fw;f 
 eak;  - ,d;gk; 
 eFjy;  - rphpj;jy; 
 ,bj;jy;  - fbe;Jiuj;jy; 
 fpoik  - chpik 
 Kfef  - Kfk; kyu 
 mfk;  - cs;sk; 
 MW  - ey;top 
 ca;j;J  - nrYj;jp 
 my;yy;  - Jd;gk; 
 cLf;if  - Mil 
 ,Lf;fz;  - Jd;gk; 
 fistJ  - ePf;FtJ 
 nfhl;gpd;wp  - NtWghL 

,y;yhky; 
 Cd;Wk;  - jhq;Fk; 
 Gidjy;  - Gfo;jy; 
 Fotp  - Foe;ij 
 gpzp  - Neha; 
 kahp  - kaf;fk; 
 foWk;  - NgRk; 
 ryth;  - tQ;rfh; 
 kd;Daph;  - epiyngw;w caph; 
 Fit  - Ftpay; 
 khud;  - kd;kjd; 
 ts;is  - ney; Fj;Jk; 

NghJ  

 ngz;fshy; 
ghlg;gLk; xU  

  tifg; ghl;L 
 msF  - Nfhop 
 Mop  - fly; 
 tbmk;G  - tbf;fg;gl;l mk;G 
 tpRk;G  - thdk; 
 nrw;whd;  - ntd;whd; 
 muT  - ghk;G 
 gps;isf;FUF - ehiuf;FQ;R 
 ts;is  - xUtif ePh;r;nfhb 
 flh  - vUik 
 ntstp  - ft;tp 
 rq;fpd; gps;is - rq;Ff; FQ;Rfs; 
 nfhb  - gtsf; nfhb 
 NfhL  - nfhk;G 
 Mop  - cg;gq;fop 
 jpiu  - miy 
 Nkjp  - vUik 
 fs;   - Njd; 
 Gs;   - md;dk; 
 Nrb  - Njhop 
 <hpUth;  - ehy;th; 
 CryhLw;whs; - kdk; jLkhwpdhs; 
 nrk;ikNrh;  - Gfo;kpF 
 fbkhiy  - kzkhiy 
 #o;tpjp  - ey;tpid 
 jhh;   - khiy 
 fhrpdp  - epyk; 
 ed;Djy;  - ey;y new;wp 
 nts;fp  - ehzp 
 fsp$u  - kfpo;r;rp nghq;f 
 taNte;J  - typikkpF murd; 

(esd;) 
 xz;jhiu  - xspkpf;f 

kyh;khiy 
 ky;yy;  - tsk; 
 klehL  - ,isa gR 
 kotpil  - ,sq;fhis 
 nrk;khe;J  - ngUkpjj;Jld; 
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 kWF  - murtPjp 
 kJ   - Njd; 
 jpaq;fp  - kaq;fp 
 rk;G  - ehty; 
 kjpak;  - epyT 
 tha;ik  - cz;ik 
 fisAk;  - ePf;Fk; 
 tz;ik  - ts;sy; jd;ik 
 Jyq;Fjy;  - tpsq;Fjy; 
 Nra;ik  - njhiyT 
 jtk;  - ngUk;NgW 
 fyhgk;  - Njhif 
 tpNtfd;  - Qhdp 
 Nfhy  - mofpa 
 ,ire;j  - nghUj;jkhd 
 thtp  - ngha;if 
 khNj  - ngz;Nz 
 muT  - ghk;G 
 FtL  - kiy 
 nghd;dp  - fhtphp 
 NfhJ  - Fw;wk; 
 mutk;  - ghk;G 
 jplk;  - cWjp 
 nka;Q;Qhdk; - nka;awpT 
 cghak;  - toptif 
 eif  - Gd;dif 
 Kif  - nkhl;L 
 Nkdp  - cly; 
 tof;F  - ed;ndwp 
 Md;w  - cah;e;j 
 ead;  - Neh;ik 
 ed;wp  - cjtp 
 eifAs;Sk; - tpisahl;lhfTk; 
 ghlwpthh;  - newpAilahh; 
 kha;tJ  - moptJ 
 muk;  - thisf; 

$h;ikahf;Fk;  
  fUtp 

 ez;G  - el;G 
 eak; ,y  - jPq;F> ,dpikaw;w 

 fil  - gOJ 
 efy;ty;yh;  - rphpj;J 

kfpo;gth; 
 khapU Qhyk; - kpfg;;nghpa cyfk; 
 jphpj;jw;W  - jphptJ Nghd;wJ 
 grpawhJ  - grpj;Jah; ePq;fhJ 
 mah;e;j  - fisg;Gw;w 
 ePba  - jPuhj 
 thd;ngw;w ejp - fq;ifahW 
 fsgk;  - re;jdk; 
 Joha; myq;fy; - Jsrpkhiy 
 Gak;  - Njhs; 
 ijte;J  - njhl;Lj;jltp 
 gfop  - mk;G 
 ,Uepyk;  - nghpa cyfk; 
 Cd;  - jir 
 ehkk;  - ngah; 
 ifk;khW  - gad; 
 khrw;w  - Fw;wkw;w 
 Njl;il  - jpul;ba nry;tk; 
 kPl;rp  - Nkd;ik 
 khs  - ePq;f 
 jhJ  - kfue;jk; 
 NghJ  - kyh; 
 ngha;if  - Fsk; 
 G+fk;  - fKfk; (ghf;F 

kuk;) 
 jpwy;  - typik 
 kwth;  - tPuh; 
 kjp   - mwT 
 mKj fpuzk; - Fsph;r;rpahd xsp 
 cjak;  - fjputd; 
 kJuk;  - ,dpik 
 ewtk;  - Njd; 
 fOtpa Jfshh; - Fw;wkw;wth; 
 ryjp  - fly; 
 myF ,y;  - mstpy;yhj 
 Gtdk;  - cyfk; 
 kjiy  - Foe;ij 
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 gFjpGhp  - fjputd; topgl;l 
,lk;  

 (itj;jPRtud; 
Nfhtpy;) 

 csthf;fy; - cz;lhf;Fjy; 
(gilj;jy;) 

 
nrhw;nghUs;: 
 epiy nghWj;jy; - fhj;jy; 
 ePq;fyh  - ,iltplhJ 
 myfpyh  - mstw;w 
 md;dth;  - mj;jifa 

,iwth; 
 jiyth;  - ,iwth; 
 ruz;  - milf;fyk; 
 mfo;thiu  - 

Njhz;Lgtiu 
 ,fo;thh;  - ,opTgLj;JNthh; 
 jiy  - rpwe;j gz;G 
 nghWj;jy;  - nghWj;Jf; 

nfhs;Sjy; 
 ,wg;gpid  - gpwh; nra;j 

Jd;gj;ij 
 ,d;ik  - tWik 
 xuhy;  - ePf;Fjy; 
 klthh;  - mwptpypfs; 
 tpUe;J  - tPl;Lf;Fg; 

Gjpatuha;  
  te;jth; 

 epiw  - rhy;G 
 xWj;jhiu  - jz;bj;jtiu 
 xd;whf  - xU nghUl;lhf 
 nghjpe;J itg;gh; - kdj;Js; itj;Jf; 

nfhs;th; 
 nghd;Wk;  - cyfk; mopAk; 

tiu 
 jpwdy;y  - nra;aj;jfhj 
 Nehnehe;J  - Jd;gj;jpw;F 

tUe;jp 
 kpFjpahd  - kdr;nrUf;fhy; 

 kpf;fit  - jPq;Ffs; 
 jFjpahd  - nghWikahy; 
 Jwe;jhh;  - gw;ww;wth; 
 ,we;jhh;  - newpiaf; 

fle;jth; 
 Nehw;jpw;gth; - nghWg;gth; 
 Nehw;ghh;  - Nehd;G 

Nkw;nfhs;gth; 
 ,d;dhnrhy; - ,dpikaw;w nrhy; 
 fz;Nzhl;lk; - ,uf;ff; 

nfhs;Sjy; 
 vz;tdg;G  - Muha;r;rpf;F moF 
 tdg;G  - moF 
 fpsh;Nte;jd; - GfOf;F chpa 

murd; 
 thl;lhd;  - tUe;j khl;lhd; 
 vk;gp  - vd; jk;gp 
 klg;gpb  - ghQ;rhyp 
 fspf;f  - kfpo; 
 Nfhkhd;  - murd; 
 Ee;ij  - Ek; je;ij 
 mltp  - fhL 
 jle;Njhs;  - typaNjhs; 
 kzpefh;  - mofpa efuk; 
 kUq;F  - gf;fk; 
 NfhyKW  - moFkpf;f 
 nrwpe;J  - mlh;e;J 
 fh   - fhL 
 FyT  - tpsq;Fk; 
 Qhyk;  - cyfk; 
 gz;zth;  - Njth; 
 muk;igah;  - Njt kfsph; 
 Qhdk;  - mwpT 
 Gd;ik  - ,ope;j jd;ik 
 tPW   - typik 
 rJuq;fr;Nrid - ehy;tifg; 

gilfs; 
 kJunkhop  - ,dpa nkhop 
 Fryq;fs; Ngrp - eyd; Nfl;ly; 
 epow;wpa  - epoy; nra;j 
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 eLehs; ahkk; - es;spuT 
 JQ;rhd;  - Japyhd; 
 kh   - tpyq;F 
 fy;yh  - fy;tpawptpy;yhj 
 ehop  - msTg;ngah; 
 fy;yh  - fy;tpawptpy;yhj 
 <jy;  - njhLj;jy; 
 Ja;g;Nghk;  - Efh;Nthk; 
 jg;Ge  - jtWtd 
 ePh;   - fly; 
 fUq;Nfhy;  - fUik epwKila 

nfhk;G 
 cah;e;jd;W - cah;e;jJ 
 mstpd;W  - mstpidAilaJ 
 nrtpr;nry;tk; - Nfs;tpr; nry;tk; 
 jiy  - Kjd;ik 
 Ngho;J  - nghOJ 
 <ag;gLk;  - mspf;fg;gLk; 
 mtp czT - Njth;fSf;F 

Nts;tpapd;  
nghOJ nfhLf;fg;gLk; 
czT 

 Md;Nwhh;  - fy;tp> Nfs;tp> 
gz;G>  

       Mfpatw;wpy; 
rpwe;Njhh;  

 xg;gh;  - epfuhth; 
 xw;fk;  - jsh;r;rp 
 Cw;W  - Cd;WNfhy; 
 mw;Nw  - Nghd;wNj 
 vidj;jhDk; - vt;tsT 

rpwpjhapDk; 
 midj;jhDk; - Nfl;l mj;Jiz 

mstpYk;  
 Md;w  - epiwe;j 
 gpioj;Jzh;e;Jk; - jtWfis 

czh;e;j  
  nghOJk; 
 

 Ngijik  - mwpahikapd; 
ghw;gl;l  

,opr;nrhw;fs; 
 ,ioj;Jzh;e;J - El;gkhf Muha;e;J 
 <z;ba  - Ma;e;jwpe;j 
 jifaNt  - jd;ikaNj 
 Njhl;fg;glhj - Jisf;fg;glhj 
 Ezq;fpa  - El;gkhfpa 
 tzq;fpa  - gzpthd 
 thapduhjy; - nkhopapid 

cilath; 
 thAzh;tpd; mwpe;Njhh; - 

czTr;Rit  
                   kl;Lk; 
khf;fs; 

 mtpapDk;  - ,we;jhYk; 
 fe;Jfk;  - ge;J 
 Nfhzk;  - thl;gil 
 Fe;jk;  - #yk; 
 Nfhil  - Ntdpw;fhyk; 
 ghlyk;  - ghjphpg;G+ 
 kh   - khkuk; 
 rbyk;  - ril 
 fps;is  - fpsp 
 ca;k;kpd;  - gpioj;Jf; 

nfhs;Sq;fs; 
 ky;yy;  - tsik 
 ts;   - neUf;fk; 
 tpRk;G  - thdk; 
 GwT  - Gwh 
 epiw  - vil 
 <h;j;J  - mWj;J 
 Jiy  - Jyhf;Nfhy; (juhR) 
 epiw  - xOf;fk; 
 td;fz;  - tPuj;jd;ik 
 Nkdp  - cly; 
 kUg;G  - je;jk; 
 Crp  - vOj;jhzp 
 kwk;  - tPuk; 
 fdy;  - neUg;G 
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 jpUj;jf;f  - moF mike;j 
 itafk;  - cyfk; 
 nkha;apiy - neUq;fpaike;j 

,iy 
 khwd;  - ghz;ba kd;dd; 
 fspW  - ahid 
 jPapd;tha;  - neUg;gpy; 
 rpe;ij  - vz;zk; 
 $u   - kpf 
 et;tp  - khd; 
 Kfpy;  - Nkfk; 
 kjp   - epyT 
 cL  - nrhhpe;j (nghope;j) 
 Gdy;  - kioePh; 
 Mak;  - Njhopah; $l;lk; 
 Mrdk;  - ,Uf;if 
 ehj;njhiy - nrhy; Nrhh;tpd;ik 

tpy;iy 
 ahf;if  - clk;G 
 gpzpNeha;  - ePq;fh Neha; 
 Ngijik  - mwpahik 
 nra;if  - ,Utpid 
 czh;T  - mwptpay; rpe;jid 
 mU  - cUtkw;wJ 
 cU  - tbtk; 
 thapy;  - Ik;nghwpfs; 
 CW  - Gyd;fspd; ,ay;G 
 Efh;T  - ,d;g Jd;g 

Efh;r;rp 
 Ntl;if  - tpUg;gk; 
 gtd;  - gad; Nehf;fpa 

nray; 
 Njhw;wk;  - gpwg;G 
 ngUk;NgW  - tPLNgW 
 NfhL  - nfhk;G 
 myfpy  - mstw;w 
 njhf;f tpyq;F - tpyq;Fj; njhFjp 
 fsT  - jpUl;L 
 fhkj;jP  - ,iz tpior;R 
 ciyah clk;G - jsuhj cly; 

 Fwis  - Gwk;NgRjy; 
 nt/fs;  - tpUk;Gjy; 
 ntFsy;  - rpdj;jy; 
 nghy;yhf; fhl;rp - khaj; Njhw;wk; 
 rPyk;  - xOf;fk; 
 jhdk;  - nfhil 
 GiujPh;  - Fw;wk; jPH;e;j 
 Nfz;kpd;  - NfSq;fs; 
 Kj;Njh; eif - Kj;Jr; rpwg;G 
 ca;k;kpd;  - Nghw;Wq;fs; 
 ciwjy;  - jq;Fjy; 
 $w;W  - vkd; 
 khrpy;  - Fw;wkw;w 
 njhOJ  - tzq;fp 
 Gf;F  - GFe;J 
 ,lh;  - ,d;dy; 
 gfh;tJ  - nrhy;tJ 
 njsptPNu  - njspAq;fs; 
 Jt;th  - Efuhj 
 mfd;W  - tpyfp 
 Mop  - fly; 
 fld;  - flik 
 rhd;Nwhh;  - ey;y Fzq;fs;  

               epiwe;jth; 
 ehz;  - ehzk; 
 xg;GuT  - cjTjy; 
 fz;Nzhl;lk; - caph;fsplj;J 

,uf;fk; 
 tha;ik  - cz;ik 
 rhy;G  - rhd;whz;ik 
 Mw;Wthh;  - nray; nra;gth; 
 Mw;wy;  - typik 
 khw;whh;  - Mw;wypy; 

Fiwe;jth; 
 Jiyay;yhh; - Mw;wypy; 

Fiwe;jth; 
 fl;lis  - ciufy; 
 ,d;dh  - jPq;F 
 ,dpa  - ed;ik 
 nra;ahf;fhy; - nra;ahtplj;J 
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 ,d;ik  - tWik 
 ,sptd;W  - ,opthdjd;W 
 jpz;ik  - typik 
 Mop  - fly; 
 ,Uepyk;  - nghpa epyk; 
 nghiw  - Rik 
 ,irgl  - GfOld; 
 fath;  - 

fPo;f;FzKilNahh; 
 tphpfly;  - gue;j fly; 
 fhAk; utpr;Rlh; - Rl;nlhpf;Fk; 

#hpaf;fjph; 
 Nahfk;  - jpahdk; 
 cWjp  - cscWjp 
 rfpg;Gj;jd;ik - nghWj;Jf; 

nfhs;Sjy; 
 nrh&gk;  - tbtk; 
 juzp  - cyfk; 
 jhuk;  - kidahs; 
 mayhh;  - cwty;yhNjhh; 
 itia ehltd; - ghz;bad; 
 ca;a  - gpiof;f 
 ,ue;J nrg;gpdhd;- gzpe;J 

Ntz;bdhd; 
 njd;dtd; Fy - nrhf;fehjd; 

nja;tk; 
 ,d;dy;  - Jd;gk; 
 ey;fpdhh;  - mspj;jhh; 
 ,iwQ;rp  - gzpe;J 
 msf;fpy; Nfs;tpahh; - mstw;w 

Nfs;tpawptpdh; 
 rpuk; Jsf;fp - jiyairj;J 
 kPdtd;  - kPd;nfhbia 

cila  
  ghz;bad; 

 tpGjh;  - Gyth; 
 J}q;fpa  - njhq;fpa 
 nghw;fpop  - nghd;Kbg;G 
 ek;gp  - jUkp 
 igAs;  - tUj;jk; 

 gdtd;  - me;jzd; 
 fz;lk;  - fOj;J 
 toTghly;  - Fw;wKs;s ghly; 
 Mh; mit  - Gyth;fs; epiwe;j 

mit 
 fpsj;jpNdd; - nrhd;Ndd; 
 rPuzp  - Gfo; tha;e;j 
 Ntzp  - nrQ;ril 
 xuhd;  - czuhd; 
 ehw;wk;  - eWkzk; 
 Foy;  - $e;jy; 
 Vj;Jk;  - tzq;Fk; 
 Qhdg;G+q;Nfhij - cikak;ik 
 fw;iwthh;  - rptngUkhd; 

rilahd; 
 ck;guhh; gjp - ,e;jpud; 
 Ejy;tpop  - new;wpf;fz; 
 nghw;gq;faj;jlk; - nghw;whkiuf; 

Fsk; 
 Ma;e;j ehtyd; - ef;fPud; 
 fha;e;j ehtyd; - ,iwtd; 
 fue;jhd;  - kiwe;;;jhd; 
 
 nrhw;nghUs;: 
 nka;  - cly; 
 tpjph;tpjph;j;J - cly; rpyph;j;J 
 tpiu  - kzk; 
 nefpG+  - jsu 
 jJk;gp  - ngUfp 
 foy;  - Mz;fs; fhypy; 

mzpAk;  
  mzpfyd; 

 rara  - nty;f nty;f 
 tpUg;gk;;  - rpwg;G 
 Xk;gg;gLk;  - fhj;jy; Ntz;Lk; 
 ghpe;J  - tpUk;gp      
 NfhpDk;  - Muha;e;J 

ghh;j;jhYk; 
 Fbik  - cah;Fb 
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 ,of;fk;  - xOf;fk; 
,y;yhjth; 

 mOf;fhW  - nghwhik 
 Mf;fk;  - nry;tk; 
 xy;fhh;  - tpyfkhl;lhh; 
 cuNthh;  - kd 

typikAilNahh; 
 Vjk;  - Fw;wk; 
 Va;Jth;  - milth; 
 ,Lk;ig  - Jd;gk; 
 xy;yhNt  - ,ayhNt 
 cyfk;  - cah;e;Njhh; 
 xl;l  - nghUe;j 
 xOFjy;  - elj;jy;> tho;jy; 
 $if  - Nfhl;lhd; 
 ,fy;  - gif 
 jpU - nry;tk; 
 jPuhik  - ePq;fhik 
 mUtpid  - nra;jw;fhpa 

nray; 
 Qhyk;  - cyfk; 
 xLf;fk;  - mlq;fpapUg;gJ 
 nghUjfh;  - Ml;Lf;flh 
 NgUe;jifj;J - gpd; thq;Fk; 

jd;ikaJ 
 nghs;nsd - clNd 
 Gwk;Ntuhh;  - ntspg;gLj;j 

khl;lhh; 
 cs;Nth;g;gh; - kdj;jpDs; 

kiwj;J  
  itj;jpUg;ghh; 

 xs;spath;  - mwpTilahh; 
 nrWeh;  - gifth; 
 Rkf;f  - kzpf 
 ,Wtiu  - KbTf;fhyk; 
 fpof;fhe;jiy - jiyfPo; (khw;wk;) 
 va;jw;F  - fpilj;jw;F 
 ,iae;jf;fhy; - fpile;j nghOJ 
 $k;Gk;  - tha;g;gw;w 

 rPh;j;j ,lk;  - chpa 
fhyk; 

 tzq;fp  - gzpe;J 
 khz;lhh;  - khz;Gila 

rhd;Nwhh; 
 Ezq;fpa E}y; - Ez;zwpT E}y;fs; 
 Nehf;fp  - Muha;e;J 
 nfhw;if  - ghz;ba ehl;bd; 

JiwKfk; 
 njhd;dk; nghUg;G - njd;gFjpapy; 

cs;s  
  nghjpif kiy 

 gopnahU gluh - kwnewpapy; 
nry;yhj 

 mlh;j;J vO FUjp – ntl;Lg;gl;l  
,lj;jpdpd;Wk; 

gPwpl;L  
xOFk; nre;ePh; 

 gRe;Jzp  - grpa Jz;lk; 
 jlf;if  - ePz;l iffs; 
 mWth;f;F ,isa eq;if – VO  

    fd;dpaUs; ,isatshfpa 
gplhhp 

 ,iwtid Mly; fz;lUspa - 
,iwtid  

eldkhlr; nra;j 
fhsp 

 #Uil fhdfk; - mr;rk; jUk; fhL 
 cfe;j  - tpUk;gpa 
 jhUfd;  - muf;fd; 
 Ngh; cuk; fpopj;j ngz; - mfd;w 

khh;gpidg;  gpse;j Jh;f;if 
 nrw;wk;  - fWT 
 nraph;j;jdd; - rpdKw;wts; 
 nghw;nwhopy; rpyk;G – Ntiyg;ghL 

kpf;f  
   nghw;rpyk;G 

 filafj;jhs; - thapypd; 
Kd;dplj;jhs; 

 ePh;thh;fz;  - ePnuhOFk; fz;fs; 
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 Njuh  - Muhahj 
 vs;sW  - ,fo;r;rp ,y;yhj 
 ,ikath;  - Njth; 
 Gs;   - gwit (Gwh) 
 Gd;fz;  - Jd;gk; 
 filkzp  - muz;kid 

thapy;kzp 
 Mop  - Njh;r;rf;fuk; 
 Vrh  - gopapy;yh 
 Nfhwy;  - nfhy;Yjy; 
 nfhw;wk;  - mur ePjp 
 ew;wpwk;  - mwnewp 
 gluh  - nry;yhj 
 tha;Kjy;  - (thapd; 

Kjyhfpa) cjL 
 njspTWj;Jk; - tpsf;fkhff; 

fhl;Lk; 
 Rtb  - E}y; 
 vspik  - tWik 
 ehzplTk;  - ntl;fg;glTk; 
 cyfpaypd;  

KOikf;Fk;  - tho;tpay; 
mlq;fYf;Fk; 

 jfj;jha – xspkpFe;j (rpwg;G      
          kpFe;j vd;Dk;  
          nghUspy; Gjpa       
          nrhy;yhf;fj;ijf;  
          ftpQh; je;Js;shh;) 
     

 ryrnyd  - xypf;Fwpg;G 
 rha;f;fhik - mopf;fhik 
 E}w;fofq;fs; - E}y; epiyaq;fs; 
 fise;Njhk; - ePf;fpNdhk; 
 jhgpg;Nghk;  - epiy epWj;JNthk; 
 Mafhiy  - me;jNeuj;jpy; 
 mk;gp  - glF 
 ehafd;  - jiytd; 
 ehkk;  - ngah; 
 Jiw  - Njhzpj;Jiw 
 njhd;ik  - njhd;Wnjhl;L 

 fy;   - kiy 
 jpus;  - jpul;rp 
 fhAk; tpy;ypad; - gifth;fis 

mopf;Fk;  
 tpy;yhw;wy; 

ngw;wtd; 
 Jb   - giw 
 my;  - ,Us; 
 rpUq;fpNguk; - fq;iff; fiuNahu 

efuk; 
 jpiy  - miy 
 kUq;F  - gf;fk; 
 cgfhuj;jd; - gad;fUjhJ 

cjTgtd; 
 ehabNad;  - eha; Nghd;wtd; 
 vapdh;  - Ntlh; 
 ,iwNahd; - jiytd; 
 nebatd;  - cah;e;jtdhfpa 

,uhkd; 
 FWfpdhd;  - te;Js;shd; 
 gz;ztd;  - ew;Fzq;fs; gy 

cila  
       ,yf;Ftd; 

 ghpT  - ,uf;fk; 
 FQ;rp  - jiyKb 
 Nkdp  - cly; 
 tUj;jpad;  - md;G cilatd; 
 khjth;  - Kdpth; 
 KWty;  - Gd;dif 
 rPh;j;jJ  - rpwe;jJ 
 gtpj;jpuk;  - J}a;ikahdJ 
 ,dpjpd;  - ,dpikahdJ 
 cz;lndk; - cz;Nlhk; 

vd;gjw;Fr;  
        rkkhdJ 

 joP,a  - fye;j 
 fhh;Fyhk;  - Nkff;$l;lk; 
 ghh;Fyhk;  - cyfk; KOtJk; 
 ,d;dy;  - Jd;gk; 
 <h;fpyh  - vLf;f ,ayhj 
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 jPh;fpNyd;  - ePq;f khl;Nld; 
 mbik nra;FNtd; - gzp nra;Ntd; 
 Fhprpy;  - jiytd; 
 ,Uj;jp  - ,Ug;ghahf 
 eadk;  - fz;fs; 
 ,e;J  - epyT 
 Ejy;  - new;wp 
 fbJ  - tpiuthf 
 KLfpdd;  - nrYj;jpdd; 
 Khpjpiu  - klq;fp tpOk; 

miy 
 ,lh;  - Jd;gk; 
 mkyd;  - Fw;wkw;wtd; 
 Ejy;  - new;wp 
 Jd;G  - Jd;gk; 
 cd;Ndy;  - epidf;fhNj 
 mhp   - new;fjph; 
 nrW  - tay; 
 ahzh;  - GJ tUtha; 
 tl;b  - gidNahiyg; 

ngl;b 
 neba nkhopjy; - murhplk; rpwg;Gg; 

ngWjy; 
 Jfph;  - gtsk; 
 Nra  - njhiyT 
 njhil  - khiy 
 fyk;  - mzp 
 fha;e;jhh;  - ePf;fpdhh; 
 kid  - tPL 
 M   - gR 
 Nkjp  - vUik 
 epiwf;Nfhy; - Jyhf;Nfhy; (juhR) 
 jz;zpdj;jha; - Fsph;r;rp epiwe;j 
 jlk;  - jlhfk; 
 ke;jkhUjrPjk; - ,se;njd;wy; 

fhw;Wld;  
  $ba Fsph;e;j ePH; 

 re;jk;  - moF 
 fy;kpjg;G  - fy;yhfpa njg;gk; 
 Gtdk;  - cyfk; 

 #iy  - nfhba 
tapw;WNeha; 

 njUSk;  - njsptpy;yhj 
 fuk;  - if 
 fkyk;  - jhkiu 
 kpir  - Nky; 
 jpUePw;Wf;fhg;G - nghpNahh;fshy; 

tho;j;jp  
  toq;fg;gLk; 

jpUePW 
 Neh;e;jhh;  - ,ire;jhh; 
 jq;fs; Nrath; - jq;fspd; 

Foe;ijfs; 
 nghw;FUj;J - kpf ,sikahd  

 thiof;FUj;J 
 xy;iy  - tpiuT 
 ky;yy;  - tskhd 
 mk;  - mofpa 
 ths;  - xsp 
 muh  - ghk;G 
 my;yy;  - Jd;gk; 
 mq;if  - cs;sq;if 
 cjpuk;  - FUjp 
 Nkdp  - cly; 
 tPe;jhd;  - ,we;jhd; 
 kiwE}y;  - ehd;kiw 
 Nra;  - Foe;ij 
 G+jp   - jpUePW 
 mq;fzh;  - mofpa new;wpf;  

     fz;izAila 
rptd; 

 nghwhJ  - Vw;fhJ 
 nka;  - cz;ik 
 gzptplk;  - ghk;gpd; eQ;R 
 rtk;  - gpzk; 
 ghw;wtpj;jhh; - Nghf;Ftpj;jhh; 
 mhpahrdk; - rpq;fhjdk; 
 gh xU ehd;F - ntz;gh> 

Mrphpag;gh>  
  fypg;gh> tQ;rpg;gh 
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 tuk;G  - tug;G 
 Vh;   - moF 
 ehw;fuzk;  -kzk;> Gj;jp> rpj;jk;> 

mfq;fhuk; 
 newpehY  -itjUg;gk;> 

nfslk;> ghQ;rhyk;>khfjk;> Mfpa 
nra;As; newpfs; 

 ehw;nghUs; -mwk;>nghUs;> 
,d;gk;> tPL 

 Nfhl;b nfhSk; - $l;lkhff; $Lk; 
 rPj;ijah;  -fPohdth;> 

Nghypg;Gyth; 
 J}h;fl;b  - gaph; mb gUe;J 

tsh;jy; 
 ehspNfuk;  - njd;id 
 %j;j  - Kjph;j;j 
 Nfz;ik  - el;G 
 Njh;e;J  - Muha;e;J 
 Neha;  - Jd;gk; 
 cwh mik - Jd;gk; tuhky; 
 ngw;wpahh;  - ngUikAilahh; 
 Ngzp  - Nghw;wp 
 jkh;  - cwtpdh; 
 td;ik  - gz;Gg; ngah; 
 xOFjy;  - Vw;W elj;jy; 
 jiy  - rpwg;G 
 #o;thh;  - mwpTilahh; 
 #o;e;J nfhsy; - el;ghf;fpf;  

nfhs;Sjy; 
 jf;fhh;  - jFjpAila 

nghpNahh; 
 nrw;whh;  - gifth; 
 ,y;   - ,y;iy 
 ,of;Fk;  - fbe;Jiuf;Fk; 
 jifik  - jd;ik 
 ,bg;ghh;  - fbe;J mwpTiu 

$Wk;  
  nghpahh; 

 Vkuh  - ghJfhty; 
,y;yhj 

 Kjiy  - Jiz 
 gj;jLj;j  - gj;J klq;F 
 nghUsy;yth; - jFjpaw;wth; 
 nghUs;  - nry;tk; 
 vs;Sth;  - ,fo;th; 
 ngha;ah tpsf;fk; - mizah 

tpsf;F 
 ,Us;  - gif 
 <Dk;  - jUk; 
 jPjpd;wp  - jPq;fpd;wp 
 Gy;yhh;  - gw;whh; 
 cWnghUs; - muR chpikahsh; 

tUg; nghUs; 
 cy;FnghUs; - thpahf tUk; 

nghUs; 
 njW  - gif 
 Fotp  - Foe;ij 
 nrtpyp  - tsh;g;Gj;jha; 
 Fd;W  - kiy 
 ifj;njhd;W - ifg;nghUs; 
 nrUf;F  - ,Wkhg;G 
 v/F  - cWjpahd 
 xz;nghUs; - rpwe;j nghUs; 
 vz;nghUs; - ,ay;gha;f; 

fpilf;Fk;  
 nghUs; 

 ,uz;Lk;  - mwDk; ,d;gKk; 
 ,lh;  - Jd;gk; 
 Vkhg;G  - ghJfhg;G 
 gpzp  - Neha; 
 eliy  - Jd;gk; 
 Nrtb jpUtbfs; - ,iwtdpd; rpte;j 
 ekd;  - vkd; 
 njz;biu  - njspe;j miyfs; 
 fhd;  - fhL 
 jlf;fhp  - nghpa ahid 
 jpus;  - $l;lk; 
 miwFtd; - nrhy;Ythd; 
 jhiu  - top 
 mzpj;jha; - mz;ikapy; 
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 mltp  - fhL 
 cOit  - Gyp 
 ts;Sfph;  - $h;ikahd efk; 
 klq;fy;  - rpq;fk; 
 epzk;  -nfhOg;G (,iwr;rp) 
 kjfhp  -kjk; nghUe;jpa 

ahid 
 NfhL  - je;jk; 
 fphp   - kiy 
 ,Uk;gid  - nghpa gid 
 cUk;  - ,b 
 myWk;  - Koq;Fk; 
 njhdp  - Xir 
 Nkjp  - vUik 
 fit  - gpse;j 
 Nfoy;  - gd;wp 
 vz;L  - fub 
 kiu  - khd; 
 vopy;  - moF 
 Gak;  - Njhs; 
 KWty;  - Gd;rphpg;G 
 ,lh;  - Jd;gk; 
 Ntq;if  - Gyp 
 ntd;wp  - ntw;wp 

 mzpe;J  - mUfpy; 
 tpsk;gpdhd; - nrhd;dhd; 
 khjpuk;  - kiy 
 Nfrhp  - rpq;fk; 
 Gsfpjk;  - kfpo;r;rp 
 fhJ  - nfhy;Yjy; 
 ftpd;  - moF 
 G+juk;  - kiy 
 tPjptha;tu - ghijapy; tu 
 ngUQ;rpuk; - nghpa jiy 
 njz;ldpl;lJ - tzq;fpaJ 
 njhprdk;  - fhl;rp 
 fyhk;  - tzf;fk; 
 jpz;jpwy;  - cWjpahd typik 
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